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1 G — 36 47 83 10.0 73.0
2 WAL 45 37 82| 8.8 73.2
3 BHIL 40 37 77 2.8 T74.2
4 [ EfE— 36 46 82 7.6 T4.4
5 Kies | 36 46 82 7.6 T74.4
6 [LIHEET 36 45 81| 6.4 74.6
7 FRoLEF] 44 37 81 6.4 74.6
8 AJLH] 36 43 79 4.0 75.0
9 KRITiERL 36 49 85 10.0 75.0
10 [ 23X 36 48 84 8.8 75.2
11 4 HFE 44 37 81 5.2 75.8
12 BHeE % 36 42 78/ 1.6 76.4
13 HEES 39 37 76 0.8 76.8
14 BYAA 51 37 88 11.2 76.8
15 FEEEA] 41 37 78 0.4 77.6
16 &E B 56 37 93 14.8 78.2
17 ZFRTE 36 48 84 5.2 78.8
18 Jt¥  BEIR 36 54 90| 11.2 78.8
19 M7 e 36 60 96| 16.0 80.0
20 HrH 5 50 37 87 6.4 80.6




